Aequationes Mathematicae

# On the trigonometric subtraction and addition formulas

THOMAS A. POULSEN AND HENRIK STETKÆR

This paper is dedicated to Professor János Aczél on his 75<sup>th</sup> birthday

**Summary.** We solve extensions to groups of the trigonometric addition and subtraction formulas, in which the plus/minus has been replaced by an involutive group automorphism. The groups need not be abelian.

Mathematics Subject Classification (1991). Primary 39B32.

 ${\bf Keywords.} \ {\bf Functional \ equation, \ subtraction \ formula, \ addition \ formula.}$ 

# I. Introduction

The trigonometric addition and subtraction formulas and their relations have been studied from the point of view of functional equations by a number of mathematicians. Let us mention Wilson [13], Vietoris [11] and Vincze [12]. The monographs by Aczél [1, Section 3.2.3], by Aczél and Dhombres [2, Ch. 13] and by Székelyhidi [10, Chap. 12] have references and detailed discussions of the classical results. All the above references deal with functions defined on abelian groups. The functional equations  $f(xy) = f(x)g(y) + g(x)f(y), x, y \in G$ , and  $g(xy) = g(x)g(y) + f(x)f(y), x, y \in G$ , in which the group G need not be abelian, were solved by Chung, Kannappan and Ng [3] during their discussion of the cosine-sine functional equation

$$f(xy) = f(x)g(y) + g(x)f(y) + h(x)h(y), \quad x, y \in G.$$
 (1)

We continue these investigations.

To formulate our results we introduce the following notation and assumptions that will be used throughout the paper: G is a topological group, C(G) the algebra of continuous, complex valued functions on G, and  $\sigma : G \to G$  a continuous homomorphism such that  $\sigma \circ \sigma = I$  were I denotes the identity map.

We find the solutions  $f,g \in C(G)$  of each of the following versions of the

addition and subtraction formulas for sine and cosine:

$$f(x\sigma(y)) = f(x)g(y) - g(x)f(y), \quad \forall x, y \in G,$$
(2)

$$f(x\sigma(y)) = f(x)g(y) + g(x)f(y), \quad \forall x, y \in G,$$
(3)

$$g(x\sigma(y)) = g(x)g(y) + f(x)f(y), \quad \forall x, y \in G,$$
(4)

(Theorems II.2, II.3 and II.4 below). The classical addition and subtraction formulas, where the group G is abelian, correspond to  $\sigma = I$  and  $\sigma = -I$  respectively (replace possibly f by if). Other examples of  $\sigma$  are transposition of  $n \times n$  matrices and reflection in a hyperplane. To solve the functional equations (2), (3) and (4) we reduce them to the special case of  $\sigma = I$  where the solutions are given in Section III.

The two classical functional equations

$$g(x + y) = g(x)g(y) + f(x)f(y), \quad \forall x, y \in G, g(x - y) = g(x)g(y) + f(x)f(y), \quad \forall x, y \in G,$$
(5)

are in our set up unified by (4) and solved simultaneously by Theorem II.4. So (4) demonstrates the relation between the two equations in (5), and is interesting for as well  $\sigma = I$  as  $\sigma = -I$ .

Our discussion of the addition and subtraction formulas in this general setting is new, as are the explicit solution formulas for  $\sigma \neq \pm I$ . We take continuity of the solutions into account in contrast to the papers [3] and [12] that describe the set of all solutions without specifying the continuous ones. We can of course get all solutions, continuous or not, by considering the special instance of the discrete topology on G.

We want to point out the following: What generalizes the subtraction formulas from the abelian to the non-abelian case is that the map  $x \to -x$  is a homomorphism the square of which is the identity map. We do not discuss functional equations like  $f(xy^{-1}) = \cdots$  in the non-abelian case, because  $\sigma(y) = y^{-1}$  is an antihomomorphism, not a homomorphism.

The related functional equation  $f(y^{-1}x) = (a(x) \mid a(y))$  was studied by Gajda [5] and earlier by O'Connor [6].

### II. The subtraction and addition formulas

**Notation II.1.** The set of continuous homomorphisms  $a: G \to (\mathbb{C}, +)$  will be denoted by  $\mathcal{A}(G)$ . Those  $a \in \mathcal{A}(G)$  for which  $a \circ \sigma = a$ , resp.  $a \circ \sigma = -a$  will be denoted  $\mathcal{A}^+(G)$ , resp.  $A^-(G)$ . In the classical case of  $\sigma = -I$  the spaces  $\mathcal{A}^-(G)$ and  $\mathcal{A}^+(G)$  become  $\mathcal{A}(G)$  and  $\{0\}$  respectively.  $\mathbb{C}^*$  is the multiplicative group  $(\mathbb{C}\setminus\{0\}, \cdot)$  of non-zero complex numbers. **Theorem II.2** (The sine subtraction formula). The continuous solutions  $f, g \in C(G)$  of

$$f(x\sigma(y)) = f(x)g(y) - g(x)f(y), \quad \forall x, y \in G,$$
(6)

are the following, where  $m: G \to \mathbb{C}^*$  denotes a continuous homomorphism and cand  $c_1$  complex constants:

- (i) f = 0, g any function.
- (ii)  $f = c_1(m m \circ \sigma)/2, g = (m + m \circ \sigma)/2 + c(m m \circ \sigma)/2, \text{ where } m \neq m \circ \sigma.$ (iii)  $f = ma^-, g = m(1 + ca^-), \text{ where } a^- \in \mathcal{A}^-(G), \text{ and } m = m \circ \sigma.$

*Proof.* Verifying that the stated pairs of functions are solutions consists in simple computations that we leave out. To see that any solution  $f, g \in C(G)$  of (6) is contained in one of the three cases we proceed as follows.

Since the right hand side of the functional equation (6) changes sign when xand y are interchanged we see that  $f(x\sigma(y)) = -f(y\sigma(x))$  for all  $x, y \in G$ . Putting y = e we find that  $f \circ \sigma = -f$ . Using this and the identity (6) we find that

$$\begin{aligned} f(x)[g(y) - g(\sigma(y))] &- f(y)[g(x) - g(\sigma(x))] \\ &= f(x)g(y) - g(x)f(y) - f(x)g(\sigma(y)) + g(\sigma(x))f(y) \\ &= f(x\sigma(y)) + f(\sigma(x))g(\sigma(y)) - g(\sigma(x))f(\sigma(y)) \\ &= f(x\sigma(y)) + f(\sigma(x)\sigma(\sigma(y))) = f(x\sigma(y)) + f(\sigma(x)y) \\ &= f(x\sigma(y)) - f(x\sigma(y)) = 0, \end{aligned}$$
(7)

 $\mathbf{so}$ 

$$f(x)[g(y) - g(\sigma(y))] = f(y)[g(x) - g(\sigma(x))] \text{ for all } x, y \in G.$$
(8)

If f = 0 we deal with case (i). So from now on we will assume that there exists an  $x_0 \in G$  for which  $f(x_0) \neq 0$ .

Defining  $g^+$  and  $g^-$  by  $g^{\pm} := (g \pm g \circ \sigma)/2$  we have  $g = g^+ + g^-$ , and from (8) that  $f(x)g^-(y) = g^-(x)f(y), \forall x, y \in G$ . In particular that  $g^- = cf$  where  $c = g^-(x_0)/f(x_0)$ . When we substitute this into (6) we get that

$$f(x\sigma(y)) = f(x)g^+(y) - g^+(x)f(y) \quad \text{for all } x, y \in G, \tag{9}$$

and so - replacing y by  $\sigma(y)$  - that

$$f(xy) = f(x)g^{+}(y) + g^{+}(x)f(y)$$
 for all  $x, y \in G$ . (10)

This functional equation is solved by Proposition III.1 below according to which we have the following 4 possibilities, using the notation in Proposition III.1:

(a): f = 0 and  $g^+$  anything. This case does not occur here due to our assumption that  $f \neq 0$ .

(b):  $g^+ = m/2$  and  $f = c_1 m$  where  $c_1 \in \mathbb{C} \setminus \{0\}$ . Via (9) we see that f = 0, so this case does not occur either.

(c):  $g^+ = (m+M)/2$  and  $f = c_1(m-M)$  where  $c_1 \in \mathbb{C} \setminus \{0\}$ . Since  $f \circ \sigma = -f$ and  $g^+ \circ \sigma = g^+$  we get that  $m \circ \sigma - M \circ \sigma = M - m$  and  $m \circ \sigma + M \circ \sigma = M + m$ implying that  $M = m \circ \sigma$ . Thus  $g^+ = (m + m \circ \sigma)/2$  and  $f = c + i(m - m \circ \sigma)$ .

Combining this with the relation  $g^- = cf$  derived above, we see that we have case (ii).

(d):  $g^+ = m$  and f = ma. From  $g^+ \circ \sigma = g^+$  we infer that  $m \circ \sigma = m$ , and from  $f \circ \sigma = -f$  that  $a \circ \sigma = -a$ , i.e., that  $a \in \mathcal{A}^-(G)$ . Combining this with the relation g = cf derived above, we see that we have case (iii).

**Theorem II.3** (The sine addition formula). The set of solutions  $f, g \in C(G)$  of the functional equation

$$f(x\sigma(y)) = f(x)g(y) + g(x)f(y), \quad \forall x, y \in G,$$
(11)

can listed as follows where  $m, M : G \to \mathbb{C}^*$  denote continuous homomorphisms such that  $m \circ \sigma = m$  and  $M = M \circ \sigma$ , and where c denotes non-zero complex constants:

(i) f = 0 and g arbitrary.

(ii) 
$$f = m/2$$
 and  $f = cm$ .

(iii) g = (m + M)/2 and f = c(m - M).

(iv) g = m and  $f = ma^+$ , where  $a^+ \in \mathcal{A}^+(G)$ .

*Proof.* It is elementary to check that the cases stated in the Theorem define solutions, so it is left to show that any solution  $f, g \in C(G)$  of (11) falls into one of these cases.

If f = 0 then we have case (i), so we shall from now on assume that  $f \neq 0$ .

Since the right hand side of (11) is invariant under interchange of x and y we get that  $f(x\sigma(y)) = f(y\sigma(x))$ . Taking y = e we get in particular that  $f = f \circ \sigma$ . Using (11) we get

$$\begin{aligned} f(x)g(y) + g(x)f(y) &= f(x\sigma(y)) = (f \circ \sigma)(x\sigma(y)) = f((\sigma(x))\sigma(\sigma(y))) \\ &= f(\sigma(x))g(\sigma(y)) + g(\sigma(x))f(\sigma(y)) = f(x)g(\sigma(y)) + g(\sigma(x))f(y), \end{aligned}$$
(12)

so  $f(x)[g(\sigma(y)) - g(y)] = f(y)[g(x) - g(\sigma(x))]$  for all  $x, y \in G$ . The left hand side does not change if x is replaced by  $\sigma(x)$ , but the right hand side does. Hence both sides are 0. Since  $f \neq 0$  this means that  $g = g \circ \sigma$ .

Using the  $\sigma$ -invariance of f and g we find

$$f(xy) = f(x\sigma(\sigma(y)) = f(x)g(\sigma(y)) + g(x)f(\sigma(y)) = f(x)g(y) + g(x)f(y).$$
 (13)

The solutions of the functional equation f(xy) = f(x)g(y) + g(x)f(y) are written down in Proposition III.1 below. However the solutions here have the extra invariance property that  $g = g \circ \sigma$  and  $f = f \circ \sigma$ . We work our way through the 4 possibilities (a)–(d) presented by Proposition III.1 to see what the invariance property entails. We use the notation of Proposition III.1.

(a): f = 0. By assumption  $f \neq 0$  so this case is excluded.

(b): g = m/2 and f = cm. Here we get that  $m = m \circ \sigma$ , so that we have case (ii). (c): g = (m+M)/2 and f = c(m-M). Here we get from the  $\sigma$ -invariance of g

and f that  $m + M = m \circ \sigma + M \circ \sigma$  and  $m - M = m \circ \sigma - M \circ \sigma$ . By addition and subtraction we find that  $m = m \circ \sigma$  and  $M = M \circ \sigma$ . This is case (iii). (d): g = m and f = ma. Here we find that  $m = m \circ \sigma$ . Combined with  $f = f \circ \sigma$  it implies that  $a = a \circ \sigma$ , i.e. that  $a \in \mathcal{A}^+(G)$ . This is case (iv).

Theorem II.4 below seemingly contains more solutions than found in Vietoris [11] and Wilson [13]. Remark II.5 explains why.

**Theorem II.4** (The cosh addition and the cosine subtraction formulas). The continuous solutions  $f, g \in C(G)$  of

$$g(x\sigma(y)) = g(x)g(y) + f(x)f(y), \quad \forall x, y \in G,$$
(14)

are the following, where  $m, M : G \to \mathbb{C}^*$  denote continuous homomorphisms:

(i) g = 0, f = 0.(ii)  $g = (1 + c^2)^{-1}m, f = c(1 + c^2)^{-1}m, where <math>m = m \circ \sigma, and c \in \mathbb{C} \setminus \{\pm i\}.$ (iii)  $c = \frac{m + c^2 M}{m + c^2 M} and f = c \frac{m - M}{m + c^2 M}$ (15)

$$g = \frac{m+c^2M}{1+c^2}$$
 and  $f = c\frac{m-M}{1+c^2}$ , (15)

where  $m = m \circ \sigma$  and  $M = M \circ \sigma$  and  $c \in \mathbb{C} \setminus \{0, i, -i\}$ (iv) g = m(1+ia), f = ma, where  $a \in \mathcal{A}^+(G)$  and  $m = m \circ \sigma$ .

- (v) g = m(1-ia), f = ma, where  $a \in \mathcal{A}^+(G)$  and  $m = m \circ \sigma$ .
- (vi)  $g = (m + m \circ \sigma)/2, f = i(m m \circ \sigma)/2, \text{ where } m \neq m \circ \sigma.$

*Proof.* Checking that the stated pairs of functions satisfy (14) is done by elementary calculations, that we leave out. It is left to show that each solution  $f, g \in C(G)$  of (14) falls into one of the categories (i)–(vi).

We note that  $g = g \circ \sigma$  because the right hand side of (14) is invariant under interchange of x and y.

If f = 0 then we get from (14) that g is zero or a homomorphism into  $\mathbb{C}^*$ , so we are in case (i) or (ii) with c = 0. We can from now on assume that there exists an  $x_0 \in G$  such that  $f(x_0) \neq 0$ .

Using the identity (14) and that  $g = g \circ \sigma$  we find that

$$g(x)g(y) + f(x)f(y) = g(x\sigma(y)) = (g \circ \sigma)(x\sigma(y)) = g(\sigma(x)\sigma(\sigma(y)))$$
  
=  $g(\sigma(x))g(\sigma(y)) + f(\sigma(x))f(\sigma(y)) = g(x)g(y) + f(\sigma(x))f(\sigma(y)).$  (16)

Comparing the left and right hand sides we see that

$$f(x)f(y) = f(\sigma(x))f(\sigma(y)), \quad \forall x, y \in G.$$
(17)

Letting  $x = y = x_0$  in (17) we get that  $f(x_0) = f(\sigma(x_0))$  or  $f(x_0) = -f(\sigma(x_0))$ . Again by (17),

$$f(x) = \frac{f(\sigma(x_0))}{f(x_0)} f(\sigma(x)) \text{ for all } x \in G,$$
(18)

so that either  $f \circ \sigma = f$  or  $f \circ \sigma = -f$ .

Suppose  $f \circ \sigma = f$ . Replacement of y by  $\sigma(y)$  in (14) yields the addition formula g(xy) = g(x)g(y) + f(x)f(y), the solutions of which are given in Proposition III.2.

88

When we analyse its solutions to find those for which f and g are  $\sigma$ -invariant, we find that only the ones stated in the cases (i) through (v) of Theorem II.4 survive.

Suppose  $f \circ \sigma = -f$ . Replacing y by  $\sigma(y)$  in (14) we find that g(xy) = g(x)g(y) - f(x)f(y) which is the equation (23) in Proposition III.2, except that f should be replaced by if to get the notation to match. Once again we go through the various possibilities (a) - (e) listed in Proposition III.2. Several possibilities will be ruled out by our assumption  $f \neq 0$ .

- (a): g = 0 and f = 0 is excluded because  $f \neq 0$ .
- (b):  $g = (1 + c^2)^{-1}m$ ,  $f = ic(1 + c^2)^{-1}m$ , where  $c \in \mathbb{C} \setminus \{\pm i\}$ . Since  $g \circ \sigma = g$  we get  $m = m \circ \sigma$ , and so  $f \circ \sigma = f$ . But  $f \circ \sigma = -f$  so we conclude that f = 0. But this case is excluded.

(c):

$$g = \frac{m + c^2 M}{1 + c^2}$$
 and  $f = ic \frac{m - M}{1 + c^2}$ , where  $c \in \mathbb{C} \setminus \{0, i, -i\}.$  (19)

From  $g \circ \sigma = g$  and  $f \circ \sigma = -f$  we get, respectively, that  $m \circ \sigma + c^2 M \circ \sigma = m + c^2 M$  and  $m \circ \sigma - M \circ \sigma = -m + M$ . Since characters are linearly independent (see, e.g., Lemma 29.41 of [7]) the last identity means that at least one of the following four cases occur:

- (1)  $m \circ \sigma = M \circ \sigma$  or, equivalently, m = M.
- (2)  $m \circ \sigma = m$ .
- (3)  $M = M \circ \sigma$ .
- (4)  $m \circ \sigma = M$ .

(1) implies that  $f = ic(1+c^2)^{-1}(m-M) = 0$  which is excluded by assumption. (2) implies by  $m \circ \sigma + c^2 M \circ \sigma = m + c^2 M$  that  $M = M \circ \sigma$  and so from  $m \circ \sigma - M \circ \sigma = -m + M$  that m = M. But then we are back in case (1).

(3) implies via  $m \circ \sigma + c^2 M \circ \sigma = m + c^2 M$  that  $m = m \circ \sigma$  which is the just treated case (2).

(4) implies that  $(1 - c^2)M = (1 - c^2)M \circ \sigma$ , so either  $M = M \circ \sigma$  or  $c^2 = 1$ . The first possibility is case (3), so only the possibility  $c^2 = 1$  remains. We find that  $g = (m + c^2M)(1 + c^2)^{-1} = (m + m \circ \sigma)/2$  and  $f = \pm i(m - m \circ \sigma)/2$ . Possibly replacing m by  $m \circ \sigma$  to get rid of the minus sign we have case (vi) of Theorem II.4.

- (d): g = m(1+ia), f = ma, where  $a \in \mathcal{A}(G)$ . From  $g = g \circ \sigma$  and  $f = -f \circ \sigma$  we find that  $m + iam = m \circ \sigma + i(a \circ \sigma)(m \circ \sigma)$  and  $ma = -(m \circ \sigma)(a \circ \sigma)$ , implying that  $m(1+2ia) = m \circ \sigma$ . With  $M := (m \circ \sigma)/m$  we get that 1 + 2ia = M. For any  $x \in G$  and  $n \in \mathbb{Z}$  we find that  $1 + 2ina(x) = M(x)^n$ . Since exponentials grow faster than linear functions we see that |M(x)| = 1, and then the identity shows that a(x) = 0. But then f = ma = 0 which is excluded by assumption, so this case does not occur.
- (e): g = m(1 ia), f = ma, where  $a \in \mathcal{A}(G)$ . This can be treated just like case (d), so this case does not occur either.

**Remark II.5.** If  $G = \{x\sigma(x^{-1}) \in G \mid x \in G\}$  then the solutions (ii) through (v) of Theorem II.4 all reduce to the single case (ii), i.e. to  $g = (1 + c^2)^{-1}$ ,  $f = c(1 + c^2)^{-1}$ , where  $c \in \mathbb{C} \setminus \{\pm i\}$ . This happens in the classical case where G is an abelian group such that G = 2G and where  $\sigma = -I$ .

Theorem II.3 becomes uninteresting when  $G = \{x\sigma(x^{-1}) \in G \mid x \in G\}$ , because f then reduces to a constant in all of its cases (i)–(iv). The above explains why the fine structures (i) through (iv) of Theorem II.3 and (ii) through (v) of Theorem II.4 have not been singled out before.

#### III. Auxiliary results on addition formulas

In this section we exhibit the solutions of the sine and cosh addition formulas that were needed in Section II. These two trigonometric functional equations (20) and (23) were solved by Chung, Kannappan and Ng [3, Lemma 5 and 4], but their results were formulated differently from what we need and they did not take continuity into account, so we present modified proofs of the solution formulas below. For abelian G the functional equations (20) and (23) were solved in Chapter 12 of [10].

**Proposition III.1.** The solutions  $f, g \in C(G)$  of

$$f(xy) = f(x)g(y) + g(x)f(y), \quad x, y \in G,$$
(20)

are the following, where  $m, M : G \to \mathbb{C}^*$  denote continuous homomorphisms and c a non-zero complex constant:

- (a) g any function and f = 0.
- (b) g = m/2 and f = cm.
- (c) g = (m+M)/2 and f = c[m-M].
- (d) g = m and f = ma, where  $a \in \mathcal{A}(G)$ .

*Proof.* Checking that the stated pairs of functions satisfy (20) is done by elementary calculations, that we leave out. It is left to show that each solution  $f, g \in C(G)$  of (20) falls into one of the categories (a) - (d).

Since f = 0 is case (a) we shall in the remainder of the proof assume that  $f \neq 0$ .

If there exists a constant  $\alpha \in \mathbb{C}$  such that  $g = \alpha f$ , then  $\alpha \neq 0$  because g = 0implies f = 0. The functional equation (20) says that  $m := 2\alpha f$  is a continuous homomorphism of G into  $\mathbb{C}^*$ . Now  $f = m/(2\alpha)$  and  $g = \alpha f = m/2$ , so we have case (b).

We may thus assume that f and g are linearly independent. According to Lemma V.1 of [9] (or the proof of Lemma 5 of [3]) there exists a constant  $\kappa \in \mathbb{C}$  such that

$$g(xy) = g(x)g(y) + \kappa^2 f(x)f(y), \quad x, y \in G.$$
(21)

Combining this with (20) we get that

$$(g \pm \kappa f)(xy) = (g \pm \kappa f)(x)(g \pm \kappa f)(y), \tag{22}$$

so  $g \pm \kappa f$  are continuous homomorphisms of G into  $\mathbb{C}^*$ . If  $\kappa \neq 0$  we have case (c) with  $m := g + \kappa f$  and  $M := g - \kappa f$ .

If  $\kappa = 0$  then m := g is according to (21) a continuous homomorphism of G into  $\mathbb{C}^*$ . Dividing in (20) by m(xy) = m(x)m(y) we get case (d) with a := f/m.

**Proposition III.2.** The continuous solutions  $f, g \in C(G)$  of

$$g(xy) = g(x)g(y) + f(x)f(y), \quad \forall x, y \in G,$$
(23)

are the following, where  $m, M : G \to \mathbb{C}^*$  denote continuous homomorphisms:

(a) 
$$g = 0, f = 0.$$
  
(b)  $g = (1 + c^2)^{-1}m, f = c(1 + c^2)^{-1}m, where \ c \in \mathbb{C} \setminus \{\pm i\}.$   
(c)  $g = \frac{m + c^2 M}{1 + c^2} \text{ and } f = \frac{m - M}{1 + c^2}, \text{ where } c \in \mathbb{C} \setminus \{0, i, -i\}.$  (24)

(d) 
$$g = m(1 + ia), f = ma, where a \in \mathcal{A}(G)$$
.  
(e)  $g = m(1 - ia), f = ma, where a \in \mathcal{A}(G)$ .

*Proof.* Checking that the stated pairs of functions satisfy (23) is done by elementary calculations, that we leave out. It is left to show that each solution  $f, g \in C(G)$  of (23) falls into one of the categories (a) - (e).

If g = 0 then so is f. This is case (a). From now on we assume  $g \neq 0$ .

If there exists a constant  $c \in \mathbb{C}$  such that f = cg, then

$$g(xy) = (1 + c^2)g(x)g(y), \quad x, y \in G.$$
 (25)

Here  $1 + c^2 \neq 0$  since otherwise g = 0 which by assumption is not the case. Thus  $m := (1 + c^2)g$  is a non-zero solution of Cauchy's functional equation  $\chi(xy) = \chi(x)\chi(y)$  so m is a continuous homomorphism of G into  $\mathbb{C}^*$ . This is case (b).

From now on we can assume that f and g are linearly independent. According to Lemma 4 of [3] (or Lemma V.3 of [9]) there exists a constant  $\alpha \in \mathbb{C}$  such that

$$f(xy) - f(x)g(y) - g(x)f(y) = 2\alpha f(x)f(y), \quad x, y \in G.$$
 (26)

Combining the identities (26) and (23) we find for any  $z \in \mathbb{C}$  that

$$(g-zf)(xy) = (g-zf)(x)(g-zf)(y) - (z^2 + 2\alpha z - 1)f(x)f(y).$$
(27)

Let  $\lambda$  and  $\mu$  denote the two roots of the polynomial  $z^2 + 2\alpha z - 1$ . Then  $\lambda \neq 0, \mu = -\lambda^{-1}$ , and so  $m := g - \lambda f$  and  $M := g + \lambda^{-1} f$  are by (27) solutions of Cauchy's functional equation. Furthermore m and M are non-zero solutions, because f and g are linearly independent. Thus m and M are continuous homomorphisms of G into  $\mathbb{C}^*$ .

If  $\lambda \neq \mu$  then we can express f and g by m and M. This is case (c). If  $\lambda$  and  $\mu$  coincide then  $\lambda = \mu = \alpha = \pm i$  so  $g = m \pm if$ . From (26) we get in each of the two cases  $\alpha = \pm i$  that f satisfies the sine addition formula

$$f(xy) = f(x)m(y) + m(x)f(y), \quad x, y \in G.$$
 (28)

Dividing by m(xy) = m(x)m(y) in the identity (28) we find that  $a := f/m \in \mathcal{A}(G)$ . Thus f = ma and  $g = m \pm if = m \pm ima = m(1 \pm ia)$ . So we have either case (d) or (e).

# References

- J. ACZÉL, Lectures on functional equations and their applications, Mathematics in Science and Engineering, Vol. 19, Academic Press, New York – London, 1966.
- J. ACZÉL AND J. DHOMBRES, Functional equations in several variables, Cambridge University Press, Cambridge New York New Rochelle Melbourne Sydney, 1989.
- [3] J. K. CHUNG, PL. KANNAPPAN AND C. T. NG, A generalization of the cosine-sine functional equation on groups, Linear Algebra Appl. 66 (1985), 259–277.
- [4] J. K. CHUNG, PL. KANNAPPAN AND C. T. NG, On two trigonometric functional equations, Mathematics Reports Toyama University 11 (1988), 153–165.
- [5] Z. GADJA, Unitary representations of topological groups and functional equations, J. Math. Anal. Appl. 152 (1990), 6–19.
- [6] T. A. O'CONNOR, A solution of the functional equation  $\phi(x-y) = \sum_{i=1}^{n} a_j(x) \overline{a_j(y)}$  on a locally compact Abelian group, J. Math. Anal. Appl. 60 (1977), 120–122.
- [7] E. HEWITT AND K. A. ROSS, Abstract Harmonic Analysis, Volume II, Springer-Verlag, Berlin – Heidelberg – New York, 1970.
- [8] H. STETKÆR, Functional equations on abelian groups with involution, Aequationes Math. 54 (1997), 144–172.
- H. STETKÆR, Functional Equations and Spherical Functions, Preprint Series 1994, No 18, Matematisk Institut, University of Aarhus, Denmark, pp. 1–28.
- [10] L. SZÉKELYHIDI, Convolution Type Functional Equations on Topological Abelian Groups, World Scientific Publishing Co. Pte. Ltd., Singapore – New Jersey – London – Hong Kong, 1991.
- [11] L. VIETORIS, Zur Kennzeichnung des Sinus und verwandter Funktionen durch Funktionalgleichungen, J. Reine Angew. Math. 186 (1944–49), 1–15.
- [12] E. VINCZE, Eine allgemeinere Methode in der Theorie der Funktionalgleichungen. II, Publ. Math. Debrecen 9 (1962), 314–323.
- [13] W. H. WILSON, On certain related functional equations, Bull. Amer. Math. Soc. 26 (1919), 300–312.

T. A. Poulsen and H. Stetkær Department of Mathematics University of Aarhus Ny Munkegade DK-8000 Aarhus C Denmark e-mail: stetkaer@imf.au.dk

Manuscript received: April 14, 1998.